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1) All questions are compulsory.
2) Figures to the right indicate marks.
3) Illustrations, in-depth answers and diagrams
4) Mixing of sub-questions is not allowed.

Attempt All(Each of SMarks)
Multiple Choice euesfions.
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Gaussian elimination method.

basis for subspace IR+ whose generators are
(1,2,4,5),vs = (1, -3, -4,-Z)
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Verify Pythagorean Theorem for u = (1,,0,2, -4) and v (0,3, 4,2)
Find inner product, angle, orthogonality for
P=-5+2x-x2,g=2+3x2

(0 Write a python program to find orthogonal projection u on

Q.s
(u)
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Attempt the following (Any THREE)
Find eigen Values and eigen vectors of

:

A

{

8-8-2
4-3-2
3-4 1.

(b) Express the following as a linear
and v3:(-1, -2, 1) with w: (6, -2, 5)

(c) Let T : lR3 --+ lR2 be a linear map
Verifiz Rank T + Nullity T J

Let S be a subset of vector
Fill the table
Vector space BasiS
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